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tpguq;fs; + - 

fzf;fpd; gb epfu ,yhgk; 846,000  

ePf;fg;gl;lJ – Vida tUkhd %yq;fs; 

-Nrkpg;Gf; fzf;fpypUe;J ngw;w tl;b 
 8,000 

fl;llj;jpw;fhd thlif eNurpw;Fr; nrYj;jg;gl;lJ &120>000 
mDkjpf;fg;gl;lJ. tpahghuj;Jld; njhlu;Ggl;lJ. 

0  

fzf;fpay; Nja;khdk;. - mDkjpaw;wJ. 20,000  

cgfuzq;fSf;fhd Njakhdf; nfhLg;gdT  

90>000/ * 33 1/3% 
 30,000 

gq;fhsu; rk;gsk; - mDkjpaw;wJ 

RNu];  

eNu]; 

192,000 

192,000 
 

Vida nryTfs; - tup Nehf;fj;jpw;fhf mDkjpf;fg;gl;lJ. 0  

 1,250,000 38,000 

gpupglj;jf;f ,yhgk; 1,212,000  

 



b)  gq;Flikapdhy; nrYj;j Ntz;ba tupiaf; fzpj;jy;. 

gpupglj;jf;f ,yhgk; 1,212,000 

Vida tUkhd %yq;fs; 

 

nkhj;j tl;b tUkhdk; 

8000 

 1,220,000 

gq;Flik tupapy;yh rYiffs;  1,000,000 

tup tUkhdk; 220,000 

gq;Flikapdhy; nrYj;j Ntz;ba tup 220,000 x 8%   

 17,600 

 

c)  gq;Flik gq;fhsUf;fpilapy; ,yhgk; kw;Wk; Vida tUkhdq;fspd; gfpu;T. 

 RNu]; eNu]; nkhj;jk; 

rk;gsq;fs; 192,000 192,000 384,000 

,yhgg; gfpu;T 414,000 414,000 828,000 

     1,212,000 

Vida tUkhd %yq;fs;    

nkhj;j tl;b tUkhdk;  4,000 4,000 8,000 

thlif - 120,000 120,000 

 610,000 730,000 1,340,000 

  

(10 Gs;spfs;) 



ntspaPL tup    

cs;@u; re;ij tpw;gid 2,850,000 * 11% 313,000  

,ilepWj;jg;gl;l toq;fy; 845,000 * 11%  92,950  

Neub Vw;Wkjp (12,500 * 130) 1,625,000 * 0% 0 406,450 

cs;sPl;L tup    

,wf;Fkjpf;fhd  0  

cs;@u; nfhs;tdT (Fwpg;G 1)  128,100  

fhy cs;sPL  128,100  

mDkjpaw;w cs;sPl;L tup  0  

mDkjpf;fg;gl;l fhy cs;sPL  128,100  

Kd; nfhz;Ltug;gl;l cs;sPl;L tup  74,000  

fopf;f Ntz;ba nkhj;j cs;sPl;L tup  202,100  

cs;sPl;L tup tpyf;F    

Vw;Wkjp kw;Wk; ,ilepWj;jg;gl;l 
toq;fYld; njhlu;GilaJ (Fwpg;G 2) 

59,475   

Vidatw;Wld; njhlu;GilaJ (Fwpg;G 3) 142,625 (202,100) (202,100) 

Kd;ndLj;J nry;Yk; cs;sPl;L tup  0  

nrYj;j Ntz;ba nkhj;j ngWkjp Nru; tup   204,350 

tup tuT    

,ilepWj;jg;gl;l toq;fy; kPJ ngw;Wf; 
nfhs;sg;gl;l tup tuT cWjpr;rPl;L 

 (92,950)  

jtizf; nfhLg;gdT  (80,000) (172,950) 

kPjp ngWkjp Nru; tup   31,400 

 









njhopypUe;jhd tUkhdk;    

rk;gsk; (100>000 x 12)  1>200>000  

cw;gj;jp Cf;ff; nfhLg;gdT rYiffs;  100>000  

tjptplf; nfhLg;gdT (50>000 x 12)  600>000  

trjpf;fhd kjpg;G 420>000   

(xU thfdj;jpd; ngWkjpf;fhd Mff; Fiwe;j tpyf;fspg;G 
&50>000 

  

ntFkjp tupaw;wJ   

   1>900>000 

thlif tUkhdk; - nrhj;Jf;fspy; ,Ue;jhd 
tUkhdk; 

   

nkhj;j thlif (20>000 x 12) 240>000   

nrYj;jpa fl;lzq;fs; (18>000)   

 222>000   

25% nfhLg;gdT (55>500)   

Njwpa thlif 166>500   

Xg;gpLjy;    

tUlhe;jg; ngWkjp 90>000   

25% nfhLg;gdT (22>500)   

 67>500   

Njwpa thlif > Njwpa tUlhe;jg; ngWkjp    

thlif tUkhdk;   166>500 

gq;Ffs; tpw;gid tpyf;fspg;G   

tl;b tUkhdk;    

epiyahd itg;G – fopf;fg;gl;l tup 

epWj;jpitf;fg;gl;lJ. (69>000 / 92) x 100 
  75>000 

gq;Fyhg tUkhdk;    

ngw;Wf;nfhz;l gq;Fyhgjpy; nrYj;jg;gl;lit  18>000  

,yhgk; kw;Wk; tUkhdq;fSf;fhd 
nfhLg;gdtpy; nrYj;jg;gl;lit 

 7>000 25>000 

rl;l uPjpahd tUkhdk;   2>166>500 

rpwpNahupdJ tUkhdk;   3>000 

nkhj;j rl;l uPjpahd tUkhdk;   2>169>500 



fopf;Ff- tuptpjpg;gpw;Fupa gFjp my;yhj tUkhdk;   

gq;Fyhg tUkhdk;  25>000  

tl;b tUkhdk;  75>000 (100>000) 

   2>069>500 

fopf;Ff – gFjp 32 fPo;    

nrYj;jpa tl;b(jdpegu; fld;) (mDkjpf;fg;gltpy;iy)  - 

tuptpjpg;gpw;Fupa tUkhdk;   2>069>500 

fopf;Ff – jFjp fl;lz nfhLg;gdTfs;    

Vgp ntDntd; Vgp epjpa ed;nfhil  (100>000)  

mq;fPfupf;fg;gl;l njhz;bw;F ed;nfhil (20>000)   

mq;fPfupf;fg;gl;l jUkepWtdj;jpw;fhd 

ed;nfhilfs; AI d; 1/3 gq;fpw;F my;yJ 
&750>000 my;yJ cz;ikf;F vJ 
FiwthdNjh mjw;F tiuaWf;fg;gl;lJ. 

 (20>000)  

njhopypUe;jhd tUkhdj;jpd; kPjhd 
jFjpf;fld; nfhLg;gdT 

 (100>000)  

tupmy;yhj nfhLg;gdTfs;  (500>000) (720>000) 

tuptUkhdk;   1>349>500 

tupngWkjp    

-Kjy; 500>000/- w;F 4%  20>000  

-mLj;j 500>000/- w;F 8%  40>000  

-kPjp 349>500/- w;F 12%  41>940  

  101>940  

fopf;Ff – tup rYiffs;    

Ra-kjpg;gPl;Lf; fl;lzk;  (10>000)  

c.ngh.nr  (96>000)  

nrYj;j Ntz;ba kPjp tup / (ngwg;gl;l kPjp)  (4>060)  

 




